FEDERAL PUBLIC SERVICE COMMISSION Nl Nerher
COMPETITIVE EXAMINATION-2024 FOR RECRUITMENT
TO POSTS IN BS-17 UNDER THE FEDERAL GOVERNMENT

STATISTICS

TIME ALLOWED: THREE HOURS
PART-IIMCQS): MAXIMUM 30 MINUTES

PART-1 (MCQS)
PART-II

MAXIMUM MARKS =20
MAXIMUM MARKS =80

NOTE: (i) Part-II is to be attempted on the separate Answer Book.

(ii) Attempt ONLY FOUR questions from PART-II. ALL questions carry EQUAL marks.
(iii) All the parts (if any) of each Question must be attempted at one place instead of at different

places.

(iv) Candidate must write Q. No. in the Answer Book in accordance with Q. No. in the Q. Paper.
(v) No Page/Space be left blank between the answers. All the blank pages of Answer Book must be

crossed.

(vi) Extra attempt of any question or any part of the attempted question will not be considered.
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(1)) None ol these

A study based on complete enumceration is knowh 55 c
error is:

(A) Sample survey () Pilot survey .
If the estimated value of an item is S0 and its actual value

(A)  -20 o6 - (C) (D) 0.20
Statistical results arc: , . !
(A)  Absolutely correct (B) Not true _ ‘émw average (D) Universally truc

by adding figure is:

The value 43,572.6 approximated to the '
44 000 (D) 44,600

(A) 43500 (B) 43,000
In a grouped data, the number of classes

A) Minimum possible  (B) Adequate possible (D) Arbitrarily chosen number

2 table are called:
Titles (D) Prefatory notes

With the help of ogive curve, 4 -

A) Median ~ (C) Percentiles (D) All of these
If a constant value is & ation of a sct, the mean of the set is:

(A)  Increased hv S0 ) Is not affected ) Zero

E 3 me value have no cffect on:

(A) Average (B) Median (C) Geometric mean (D) Harmonic o

In case of weighted mean, the accuracy or utility of the mean:

(A) Decreases (B) Increases (i‘) Is unatfected (D) None of these

The individual probabilities of occurrence of two events A and B are known, the probability of
occurrence of both the events together will be: »

(A) Increased (B) Decreased (C) One (D) Zero

For a Bernoulli distribution with probability p of a success and q of a failure, the relation
between mean and variance that holds is: " .
(A) Mean < vanance (B) Mean > variance (C) Mean = vanance (D) Mean = vanance
A random sample of 17 items from a heap of machine parts gives a mean of 42 and S.D.= 6.25.
The value of statistic t to test the hypothesis that the population mean = 38 is: Sl

(A) 2.64 (B)6.6 (C) 2.56 (D) None of these
The shape of Chi-square distribution curve with 1 or 2 degree of freedom s
(A) A parabola (B) A hyperbola (C) J-shaped curve (0)” A bell shaped curve

F-distribution curve

) . | :
oot

in respect of tails is: - .
3) Positive skew (C) Symmetrical (D) All of these
ymen rating function does not exist but moments exists is:

A) y ution (B) t-distribut (C) F-distribution (D) All of these
_If a discrete random variable takes ¢ ¥ values -1, 0, 3, 4 with probabilities 1/6, k, % and 1-6k,

where k is a constant, then th of k is: :
(A) 1/3 ) 2/9 (C) V12 (D) 5/24

18, If a random variable X has mean 3 and S.D.= 5, then the variance of the le Y = 2X -5 is:
(A) 25 (B) 45 (€©) 100 ) 50

19. uxu.mmu‘m‘»“mm,--ﬁ 'M
(A) Log normal distribution ) Gamma utic
(C) Chi-square distribution ) Exponential

20, If all observations in a set of observations are same, the of the set of values is:
(A  Zero (B) One ( (D) Not possible to calculate
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steps involved in | ction of index pumbets of wholesale  (10)

muzoozuuom-c.mnum: a0 @0

Compute the Marshall-Edgeworth and
using 2002 as the base period.

o

Q. No.8. (#) Describe a Randomized Complete Block Design experiment and give its layout.

() Ina wmnhamdn.mﬂdormmul.n.nw.m 10y (20)
mofwM&&C.Dmmhhlamdmklownndlh'ylokh-.d)o

indicated therein:
T [B27 |[Ai17 |C 15 |D 2s
M |A28 |D232 |B26 |C 16
m D14 |C 1l |A22 |8 2§
IV|[CIS |BIS |DI9 |A 17

Perform the analysis of variance to test at 0,05 significance level, the
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